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PAPER —1
WA —1
Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

9 U9 T U= (50) 95-Toohed T U9 €| U YT ok g (2) 37k © | Wl UEHI o I
HiEy

1.  Good evaluation of written material should not be based on :
(A) Linguistic expression
(B) Logical presentation
(C) Ability to reproduce whatever is read
(D)

Comprehension of subject

2. Why do teachers use teaching aid ?

(A) To make teaching fun-filled
(B) To teach within understanding level of students
(C) For students’ attention
(D)

To make students attentive

1. fafea amft &1 w2 qoaied i 8 9 forg W emuiRa & g =fea ?
(A) T ATyt
(B) fher FEqfa
(C) SN TG T & 3/ A: W A bl &TH]
(D) fawa =1 ufEmm

2. fers, foreror arft 1 ST & w2
(A) Toeror sl RS oA
(B) fo=nfi=i o6t wwet o6t € # ggm
(C) for=nfei=i o eamTeRt o fog
(D) fa=nfoi=i 1 ¥aeh & o fag

WXYZ-00 3 P.T.O.



3. Attitudes, concepts, skills and knowledge are products of :

(A) Learning (B) Research
(C) Heredity (D) Explanation
4.  Which among the following gives more freedom to the learner to interact ?

(A) Use of film

(B)  Small group discussion
(C) Lectures by experts
(

D) Viewing country-wide classroom programme on TV

5.  Which of the following is not a product of learning ?
(A) Attitudes (B) Concepts
(C) Knowledge (D) Maturation

6. How can the objectivity of the research be enhanced ?
(A) Through its impartiality (B) Through its reliability
(C) Through its validity (D) All of these

7.  Action-research is :
(A) An applied research
(B) A research carried out to solve immediate problems
(C) A longitudinal research
(D) All the above

8.  The basis on which assumptions are formulated :

(A) Cultural background of the country

(B)  Universities
(C) Specific characteristics of the castes
(D) All of these
9.  Which of the following is classified in the category of the developmental research ?
(A) Philosophical research (B) Action research
(C) Descriptive research (D) All the above

WXYZ-00 4



srfugft, HehedT, v qe1 IH SIS © ¢
(A) Hre st gfshan (B) WY I
(C) ST <kl (D) SATEA

Trefafea § @ o @ fafy drem 9 o1 s=fmar o sifues wasd <l & 2
(A) Tred 1 3T

(B) BIC THg H ==
(C) forar=i g =
(D) A W AT FHET-HRH I HTARA

freiferd H © ShIET TG i Tihan o1 qiomy 787 e ?
(A) srfyefa (B) Heheudl
(C) I (D) URgeRr

Sy = foaoafTssar i fhe YR S ST Hehar § 2
(A) 3HH! frouerar o SRS (B) ! fageraal & wIRA
(C) 3IFa! dgdl & SIRA (D) Sude |t

eI WY T
(A) STITIR e
(B) dIhTicieh SHENSAT < HHIYM =q fohan 721 oy
(C) <RI=RIE WY
(D) Sug |+t

HrrdTe 1T A ol STTER 1 § 2
(A) <@ I WiEH{dR T
(B) favafeawmem

(C) ifaait =t faferss faomamg
(D) STg |+t

freifera o & fordt faepmamces oy & avf § affera foren T 2
A) it (diferen) iy (B) fTrarws Wy
C) foeomens sy (D) 3w aeft

(
(
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10. We use Factorial Analysis :

(A) To know the relationship between two variables
B) To test the Hypothesis
To know the difference between two variables

To know the difference among the many variables

Read the following passage and answer the questions 11 to 15 :

While the British rule in India was detrimental to the economic development of
the country, it did help in starting of the process of modernizing Indian society and
formed several progressive institutions during that process. One of the most beneficial
institutions, which were initiated by the British, was democracy. Nobody can dispute
that despite its many shortcomings, democracy was and is far better alternative to the
arbitrary rule of the rajas and nawabs, which prevailed in India in the pre-British
days.

However, one of the harmful traditions of British democracy inherited by India
was that of conflict instead of cooperation between elected members. This was its
essential feature. The party, which got the support of the majority of elected members,
formed the Government while the others constituted a standing opposition. The existence
of the opposition to those in power was and is regarded as a hallmark of democracy.

In principle, democracy consists of rule by the people; but where direct rule is not
possible, it's rule by persons elected by the people. It is natural that there would be
some differences of opinion among the elected members as in the rest of the society.

Normally, members of any organizations have differences of opinion between
themselves on different issues but they manage to work on the basis of a consensus and
they do not normally form a division between some who are in majority and are placed
in power, while treating the others as in opposition.

The members of an organization usually work on consensus. Consensus simply
means that after an adequate discussion, members agree that the majority opinion may
prevail for the time being. Thus persons who form a majority on one issue and whose
opinion is allowed to prevail may not be on the same side if there is a difference on
some other issue.

It was largely by accident that instead of this normal procedure, a two party
system came to prevail in Britain and that is now being generally taken as the best
method of democratic rule.

Many democratically inclined persons in India regret that such a two party system
was not brought about in the country. It appears that to have two parties in India - of

WXYZ-00 6



10.

T R TITCTI 1 STAN i € :
(A) =0 & 9 Y A S 6 T
(B) UToRReYAT o1 TH&T0 shid & fog
(C) =R & = TR S o g
(D) =8d 9§ = & s F=<R S & fog

At STaavur @1 Ufgq a9r11 @ 15 d & 991 & a7 1T :

o fofewr e 3w o ol faema 1 eifq vg=m o & T of a9 off SH R
THS & STYhIHIO it YfehaT YT HT qAT 39 Tfehal 7 dgd | Tfasiial Geed shi Tenfud
T H Heg i | AU GRI YT i T8 fedehilt Heensti § 9 Tk o YSI1G51 | 9 &1d o <hls foriY
e oL Fehal foh gd ©1 it o srers[g eltehd sl YRd | foreier wre § qd g=ferd st den
arei o FRFE IME H1 37371 IR ek fashey o |

9, vRa 7 fafesr depds =t S iR Wy I9E 98 ot 3% fHaifea geei |
T ot oTer foRe o1 a1 9% SHeT SAfard @ on | 9 wied, feraent fraffed gewt @@
EHA YTH BIAT o, o8 TR o1 oft Staifer o= wee fauet H 8 91 fauet w1 sifeac & &=
T S AN o foTT YT 1 SferdTeh |1 T |

Yait=aes gfte 9, Yo <l gRT 3meA @, foheg STel Toaed e 9ed &1 ©, el @il g
Faifea Tewl 1 I B ¥ | 9% T € o TEe & o= anll i ate € FHaifad e
% foemi | oft $2 qadg 2|

qma: fRdt off e & weel § fafie g8 W 7a9 a1 § W] 3 Ga9Hid & STER
R HE HA § T S WG S H 3R agad # § gen o= o foet H ¥ o 99 1 |

YIS % TS U Hagwfa 9§ el d § | Sdamid 1 SR w9 9 21 €, gty ==t
% e, SgHd W TR J&dTe Gewl ol 36 THT TihR Bl €| 37d: Hee, S ol 98 W SigHd
H B ¥ o TSRt wEae Wiiehd B €, I8 STavas el o 3 TRt o g8 W Hade =t feufa
o TohHd € 8 |

AYE 9 W, I8 G4 & o1 foh 30 9= ufshan o6t aien foea o S wiféa ot sqawen
STl g8, TSI9 USITTi—=ieh IME i Ta9 Iq9 UEid & §9 H 376 FHEA: WeR L for
TR

ARd | YIS | Ygd ogd W AN <l Sl shl el hl ¥ H o] i | fslar srwa
FIA ® | UHT AT €, IR H ST SRR ISR o <1 Sl o1 81 - a%gd: STame €1 o qalt
I HIEAT & 9TE o Ufd S Fa=rar Yo d € ST 39 Rul R fo=r e =nfen |
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11.

12.

13.

14.

15.

more or less equal strength - is a virtual impossibility. Those who regret the absence of
a two-party system should take the reasons into consideration.

When the two party system got established in Britain, there were two groups
among the rules (consisting of a limited electorate) who had the same economic interests
among themselves and who therefore formed two groups within the selected members
of Parliament.

There were members of the British aristocracy (which landed interests and
consisting of lord, barons etc) and members of the new commercial class consisting of
merchants and artisans. These groups were more or less of equal strength and they
were able to establish their separate rule at different times.

Answer the following questions :

In pre-British period, when India was ruled by the independent rulers :
(A) Peace and prosperity prevailed in the society

(B) People were isolated from political affairs

(C) Public opinion was inevitable for policy making

(D) Law was equal for one and all

What is the distinguishing feature of the democracy practiced in Britain ?
(A) End to the rule of might is right.

(B) Rule of the people, by the people and for the people.

(C) It has stood the test of time.

(D) Cooperation between elected members.

Democracy is practiced where :

(A) Elected members form a uniform opinion regarding policy matter.
(B) Opposition is more powerful than the ruling combine.

(C) Representatives of masses.

(D) None of these.

Which of the following is true about the British rule in India ?

(A) It was behind the modernization of the Indian society.

(B) India gained economically during that period.

(C) Various establishments were formed for the purpose of progress.
(D) None of these.

Who became the members of the new commercial class during that time ?
(A) British Aristocrats (B) Lord and barons
(C) Political Persons (D) Merchants and artisans

WXYZ-00 8



11.

12.

13.

14.

15.

fore § S/& 9 <o el e wifyd @ T @ weH H @ w5 3 (o fafess
ifaa &) ek sffer fed Tu™ 91 o1a: 7% FeA & fHaifad Tewii & < 998 & |

fofew yoias § 32 9= T & (9t a1, ame 9m=i SJaen e § &9 off) qen
U EEII a1 % GeE § AR SR et e 91 S SRl 1 9 ST SHE o a9
forferst hreti | o 3191 Yereh SMEA T@fud 3 & I 9|

fefeRaa av=t & 3av T

fofew-vd sl § 9Rd <1 T3 AEehl g1 AfEd o, a9
(A) g9 ¥ wifa e wgfe alem off

(B) TSHifdes AIFal o ST STHe off

(C) ifa fraior § S9q sTrereh o

(D) R Hereh folw HAM o

foreq & wafera weias o fafdme @emor = 8 2
A) fomet ardt STt 49 F A #1 oA
B) ST Sl ST o T STal R 6
C) 9% 9HI Ht FHURI | T A
Fraifaa se= o TReRe Tgam

— ~—

(
(
(
(

S o

ERIGERS R

(A) Fraifaa ge= o Fifa feRer & 98 W thed g
(B) &l &t ht sTUeT foqer 1 sifyres wifsremedt 2
(C) oTsH & gfaffy

(D) T 9 FE T

Ra # forfew ome & R # fr=fafed § 9 «F-91 @82 ?
(A) I IRATT HHS o YRR die o |

(B) 39 &y H WRd ohl Ifeleh oty ga|

(C) I o Ieva § fafir Heenst ot T g3 |

(D) =TH 9 hIE T |

39 3afy H TU eI a7 % GG i g2

(A) fofew - enfysea = (B) TS el ™
(C) TSI (D) AR qe fered
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16.

17.

18.

19.

20.

21.

22.

Which one of the following Telephonic Conferencing with a radio link is very popular
throughout the world ?

(A) TPS (B) Telepresence
(C) Video conference (D) Video teletext

Which is not 24 hours news channel ?
(A) NDTV 24x7 (B) ZEE News
(C) Aajtak (D) Lok Sabha channel

The main objective of F.M. station in radio is :

(A) Information, Entertainment and Tourism
(B) Entertainment, Information and Interaction

(C) Tourism, Interaction and Entertainment

(D) Entertainment only

In communication chatting in internet is :

(A) Verbal communication (B) Non verbal communication
(C) Parallel communication (D) Grapevine communication

Match List-I with List-II and select the correct answer using the codes given below :

List-1 List-11
(Artists) (Art)
(a) Pandit Jasraj (i) Hindustani vocalist
(b) Kishan Maharaj (i) Sitar
() Ravi Shankar (iii) Tabla
(d) Udai Shankar (iv) Dance
Codes
(@ (B () (@
(A) @) @) @) ()
B) @ (@) (@v) (i)
© @ (@) G (@)
(D) @) @) @) ()

Insert the missing number in the following :
3, 8,18, 23, 33, ?, 48
(A) 37 (B) 40 (C) 38 (D) 45

In a certain code, CLOCK is written as KCOLC. How would STEPS be written in that
code ?

(A) SPEST (B) SPSET (C) SPETS (D) SEPTS

WXYZ-00 10



16.

17.

18.

19.

20.

21.

22.

frefafaa # & S Yea fds % wre @um amtary fava # aga e 72

(A) TPS
(C) fafean s

I 24 T YHER 99 T8l € 2

(A) TAELAEL 24x7 (NDTV 24x7)  (B)

(C) dANIdsh (Aajtak)

(B) <elIwHA
(D) fafedl eeftese

St =51 (ZEE News)
(D) TREHl 9Fd (Lok Sabha channel)

el # Uh.TH. WY g R

(A) =1, FARSH 901 g

(C) T, TIHAR, T HARSH

T R GER d6aEd ©
(A) TifEges =R
(C) HHMR H9R

(B) HARSH, o1 A THaAR
(D) hdd HARSH

(B) TR Hifgs =R
(D) JTaTEd AR

FAI-1 1 -1 F THEATT U IS T GART ek el IR QIIT

ger-1
( FATHT)
) dfed S
b) ToheH ARSI
NEERERIER

(ii)

frifera # @ wen fafa .
3, 8,18, 23, 33, 2, 48
(A) 37 (B) 40

fordt @Ie H, CLOCK &l KCOLC st e ¥ forar 71 €1 STEPS &1 39 shig # fhd YR

ot st ?
(A) SPEST (B)

WXYZ-00

SPSET (€)

ger-11
(&)
i) fegwH! deRfawe
i) THIR
iii) e
iv) St

(
(
(
(

(C) 38 (D) 45

SPETS (D) SEPTS
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23.

24.

25.

26.

27.

28.

29.

30.

The letters in the first set have a certain relationship. On the basis of this relationship
mark the right choice for the second set :

BDFH : OMKI : : GHIK : ?
(A) FHJL (B) RPNL (C) LNPR (D) LJHF

What was the day of the week on 1st January 2001 ?
(A) Friday (B) Tuesday
(C) Sunday (D) Wednesday

Find out the wrong number in the sequence.
52, 51, 48, 43, 34, 27, 16
(A) 27 (B) 34 (C) 43 (D) 48

In a deductive argument conclusion is :
(A) Summing up of the premises

(B) Not necessarily based on premises
(©

(D)

Entailed by the premises

Additional to the premises

‘No man are mortal’ is contradictory of :
(A) Some man are mortal (B) Some man are not mortal

(C) All men are mortal (D) No mortal is man

A deductive argument is valid if :

(A) premises are false and conclusion true

B) premises are false and conclusion is also false
premises are true and conclusion is false

D) premises are true and conclusion is true

Structure of logical argument is based on :
(A) Formal validity (B) Material truth

(C) Linguistic expression (D) Aptness of examples

Two ladies and two men are playing bridge and seated at North, East, South and West
of a table. No lady is facing East. Persons sitting opposite to each other are not of the
same sex. One man is facing South. Which direction are the ladies facing to ?

(A) East and West (B) North and West
(C) South and East (D) None of these

WXYZ-00 12



23.

24.

25.

26.

27.

28.

29.

30.

T T § S1eR o $® Gy B | TH 9y o SMYR W T 9= & fau w@ fasmed

ERIELUE

BDFH : OMKI : : GHIK : ?

(A) FHJL (B) RPNL (C) LNPR (D) LJHF
Tged! SHet 2001 Sl BKT ol iAET feT o1 ?

(A) ehaR (B) HITER (C) @R (D) HHER
freifRa sTIehd o TTeTd §& F1d IS

52, 51, 48, 43, 34, 27, 16

(A) 27 (B) 34 (C) 43 (D) 48
IBRCEIRCAGCACT R E =

(A) SR 9Tt o1 A |

(B) MR TRl R Afamd: smenfid & 2 g
(C) MHR TRl § Wi 21 & |

(D) STHR areR | A g 2 |

" h1E AT TURNS el § 1" oh1 STE

(A) T T TR | (B) F® AIH WOURMA Tl ¥
(C) Tl T TRometiet ¥ (D) 1S TORMS A el €
TR ek 9U B ® At

(A) 2THR a1 T8 iR frepd T 21
B) MU a1 3T 3R freepdl off sree 21

(

(C) TR a1 T 3R fehe e/ 2|

(D) TR a1 T IR Fshd a1 2|

ek R Y TAT HT STER T

(A) SRR dear (B) QeATCH Tedl
(C) wIehIg SAfYyeAfeR (D) 3SR <l ST

T Afead 3iR <1 7E foel ¥ | € 3R 09 & S|, 4, e @ e &t siR a3 § 1 & o
Tfeel qd & WA TR § | Teh ER o WA SIS Ao Teh & faT & 78l €1 Tk J&u <feqr faun
% U@ B, Hieee St feensii & avqg § 2

(A) 9o T& ufeem (B) SR ud =

(C) <& e gd (D) Sudad H ¥ i &
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Question Nos. 31 to 35 NOT FOR VISUALLY HANDICAPPED CANDIDATES

31.

32.

33.

34.

35.

Questions 31 and 32 are based on the following venn diagram in which there are three
intersecting circles representing Hindi knowing persons, English knowing persons and
persons who are working as teachers. Different regions so obtained in the figure are
marked as a, b,c,d, e, fand g.

Hindi knowing
persons

Persons working
as teachers

English knowing persons

If you want to select Hindi and English knowing teachers, which of the following is to
be selected ?
(A) 8 (B) b ©) ¢ (D) e

If you want to select persons, who do not know English and are not teachers, which of
the region is to be selected ?

(A) e B) 8 © b (D) a

Study the following graph carefully and answer questions 33 to 35.

Export of Engineering Goods

Quantity in lakh tonnes

%g%g Value in crore of rupees

50 50
HHHO0O|
Hooo
000
wn (eleYe) _:_3_5_
H{ooo| FFH
coo| HHH
25 25 HHoool EHH D5
000 HH u ggg 000
ooo| HHH 000
--.5 ooo| HHH 15 HHooo| FHHooo
HtHooo| HA]009] ooo| BE{ooo
HHooo| Hi]o09| mooo| Hi{ooo
HHHHooo| HHHo©o9 Hooo| HHHooo
000 000 000 000

2003 2004 2005 2006 2007

In which year the quantity of engineering goods” exports was maximum ?
(A) 2005 (B) 2006 (©) 2004 (D) 2007

In which year the value of engineering goods decreased by 50 percent compared to the
previous year ?
(A) 2004 (B) 2007 (©) 2005 (D) 2006

In which year the quantity of exports was 100 percent higher than the quantity of
previous year ?
(A) 2004 (B) 2005 (©) 2006 (D) 2007
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31.

32.

33.

34.

35.

Y9 WE&AT 31 W 35 deh gre-faeheny vafefan & fog =& ¥

T TE& 31 3R 32 = 53 T 9 S W eeiia € freH wWem #red gu i g9 ¥ S
for fe=<t S o1t =Afar, 37US STAA el safert qen o safer il 31eamdes €, ol Sfaffec s
FI O S S H A W E R a, b, ¢, d, e, f, g T Sifera o T T

fe=t ST = ) ASTH % &9
e ’bvh‘ ShTH A olTe] SAfeRd

TS S et e

Ffe 319 fedt 2R SIS S aTet steamash o1 9 qf frefafed § 9 fergent g 2

(A) g (B) b Q) « (D) e

Ffg 319 T AfKT 1 A1 91 S ST T S 21 3R s1earash ot 1 91 o Fefafea § 9
et 51 ?

(A) e B) g © b (D) a

TrefafEa w1 TR T 31T U9 HE&AT 33 | 35 i S6T < |
ESIIERIUIEES S A RERIT
T Arg 29 °

50 50
o000
[e]e]e]
[rooo
T OO0 35
ooo| FEH
25 25 25 ool HHH 5
oool [ [ ooo| HHifees
000| HHH [e]e]e]
.1.‘5. ooo| HHH 15 p ooo| HFHHooo
ooo| HIHHooo| HHH O0O0| o000
FHrrrjooo|l EIHo09| (eeJe] BNl smuunn [e]e]e]
HHooo| HHHooo| HHH Hooo| HHHooo
[e]e]e] 000 [e]e]e] [e]e]e]

5003 2004 2005 2006 2007
Seifafin ammft o i st gatfes o feg ad § g €2

(A) 2005 (B) 2006 (C) 2004 (D) 2007
Al arft s Joa fusat ad & gor | S a8 § 50% % g ?

(A) 2004 (B) 2007 (C) 2005 (D) 2006
frata =t Aen i foee o # s a9 &6t gom § 100% 96 6 2

(A) 2004 (B) 2005 (C) 2006 (D) 2007
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31.

Read the passage and answer the question 31 to 35 :

The surge witnessed in mergers, amalgamations and take over of companies
during the past few years is indicative of the shape of things to come. While these
concepts are not new and were recognised even in the Companies Act of 1913, the
compulsions have undergone a dramatic change. In the past, mergers and acquisitions
were used largely as an instrument for revival of sick units or for obtaining tax benefits.
It was not uncommon for a business house to merge a sick company with a profit-
making one and claim tax benefits. The objective was not necessarily to achieve faster
growth. The liberalisation process witnessed during the late seventies and the eighties
and particularly the relaxation of some of the restrictive provisions of MRTP Act and
FERA, brought about a qualitative change in the mergers and amalgamations of
companies. Even so, the incentive to grow was almost non-existent and in fact some
companies preferred to “demerge” by splitting one company into two or more so as to
escape from the harsh provisions of the MRTP Act.

The fast pace of liberalisation since July 1991 and the time bound programme of
structural reforms under pressure from the IMF and the World Bank have shaken the
Indian industry from a slumber by exposing it to internal as well as international
competition. Not surprisingly, the pressure is building up on every enterprise to
modernise and expand to cut costs. Gone are the days of the licence and permit raj,
high import duties and the prosperity guaranteed by a “seller’s market”. With the
rising threat of competition and the “seller’s market” giving way to “buyer’s market”
in a large number of industries, the compulsion to look for economics of scale in

production and cutting down the selling cost is increasing.

Simultaneously, the virtual scrapping of the MRTP provisions and relaxation in
FERA have removed the disincentives to grow. Hence mergers, amalgamations and
take overs have assumed greater importance. Mergers and acquisitions have now come
to represent a short cut for companies to achieve accelerated growth. This is the trend

world over and India cannot remain an exception as it moves towards globalisation.

What was the motive of some companies behind resorting to demerger ?
(A) to enhance their accountability
(B) to bring about technical changes
(C
(D

) to face the competition in market
)

to elude the harsh legal provisions
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37T T UG 31 T 35 T & U¥l & Ia¥ g

fusel = o6l § Shufal o1 foor, FamHe a9 SR o § IAere Tt hl e hidl
Bl 3 uRomd FolA TR €1 A HU TR 1913 H off TR R ot T ot | 37 afaranet §
Areshia aREd A € | favra ot # faerem qen Afemevl, STHR Sehieal o siod qei o a4l
1 UM T o F199 o €I H T&Ad: FAN Tohdn Sran o | forelt SR ot &1 oy s arelt
AT ok 1Y TITIT ek X Tl o AT hAT SAEHIIeh Tl o foT STHMET 91d el off |
T 3299 SAfERIa: da fohE 1 U w1 TR 411 70 T 80 h IAUS H IR h
gfskan, e fadiy &9 | T AR & 9 (MRTP) TR 991 T § IR T (FERA) &t Gfde¢rcieh
JEYgH | $® T HuEl & faea ad FHEEE | s aiadd ae | R o, faem &
TIHTe I IR-ANE & q01 9%ad § $© HufEl 4 TF IR & 9 TR (MRTP Act) % HoR
EHHl § s= & fau foaeem it o1ian T | S 9 Sl § faved s 96 o

S 1991 ¥ STHHI i el TIfd e 3T TH TR (IMF) aen fava o & <o #
TS GUR o THI MY wREIHH 7 R (TF) a1 Siailsid Ffaaifiar # @t
fasita feafa 9 v a1 feon foan €1 =% oTv=rise =61, Sidl o1 &9 &H & fau
MY B T2 FoaR & oI 3 a9 W o6 I8 W R | ST a1 STTAR TS 37 ST
T e * fershal oSk’ g0 Y= wyfg o fod w1 gfanfian st agdt 7R qen Srel 9 s4me
ST foshal TSR’ ST * Shell SITSIR” &1 WM o o |19, Iq1e S8 i foRwmral ol ga ot
ST AT Tosha @RI b1 HH HIA i STERI 9¢ W@l & |

Yok W19 &, TH AR &1 d (MRTP) UG hl 3THA BT 991 TF § 3R T (FERA) H 82
J el i R e, R 3 S TR fean| ora: faeed, s dun sifimew st
TEEqUl o4 T | o™ qen AR, 316 HufEi o ek faeht™ ol UTd &id o foalT Bie T
H H H ¢ I8 Ygha fovaerdt & qen 9Ra off gHet s1vere & @ Fehal Hifw 98
YRV I SR ¢ Tl T |

31. ‘feasi’ &1 9N oF % e i Hufal ol R 3599 o1 ?

A) Tk O T H gfg
B) dhdlehl Rl I @M

C
D

ISR | GIqEfTaT <1 9EAT s

(
(
(
(D) 3R Hawfe el 1 e |

)
)

WXYZ—-00 17 P.T.O.



32.

33.

34.

35.

36.

37.

38.

What is the meaning of the phrase, “sellers market” giving way to “buyers market” ?
(A) Confrontation between sellers and buyers in a market over price

(B) Market financially in favour of consumers
(C) More demand than supply in a market
(D) Demand and supply proportionate in a market

For which of the following was the amalgamations largely used in the past ?
(A) to achieve accelerated growth

(B) serving on taxes payable to the government
(C

(D

) overcoming the provisions of revival of sick units

) forcing the government to adopt liberalisation process

Which of the following is true about the government’s stand on import duties ?
(A) Import duty is now raised in order to earn revenue

B) Import duty is now lowered to encourage healthy competition

Import duty is lowered in order to encourage imports

Import duty is raised in order to discourage buying of foreign goods

The term “demerge” as used in the passage means :

>

) formulation of two or more companies out of an existing one

(B) re-union of companies which had split up out of one company
(C) separation of two or more companies which had merged into one
(D)

renaming a company to claim tax benefits

What do you need to put your web pages on the www ?
(A) a connection to internet (B) a web browser

(C) aweb server (D) all of the above

Which was the first company to launch mobile phone services in India ?

(A) Essar (B) BPL (C) Hutchison (D) Airtel

Chandrayan I was launched on 22nd October, 2008 in India from :
(A) Bangalore (B) Sri Harikota (C) Chennai (D) Ahmedabad
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32.

33.

34.

35.

36.

37.

38.

“ faohaT SR RT SRl ST’ <kl | ST §, 59 e 1 71 Haeld © ?
A) il i gfie I fassar SR Shar w1 STHAT [EAT B |

B) fo<ita &9 9§ Iufierdt o 9&1 § SR |

C) ISR H gfct 1 STU&T | BT Afereha |

(
(
(
(D) ISR | |7 e g T ST |

)
)

)

A a H S 379 9 gera: feee faw & § o e ?
(A) wRa o &1 98w

(B) TR ol ST ST o7t Yt STerarehal T HEAT |

(C) THR geRtedl sl YASIfod i o GTALMI sl TUYd HEAT |
(D) HTHR o ISRt UfHAT Rl o1 HEAT |

)
)

3T Sl W TR i g § Frafafea § @ =@ @ gt e?

(A) AfYe TS HHEM & faQ o9 o3| = H gig R

(B) EaTE YfTATT sl sgren oF o folt ST o bl 3T H AT |
(C) AT %! FQEl o o fTT ST 3 hl HH HLA |

(D) faceit sgatl sl THIT i Bdicdiied i o felT ST o hl S |

faere (fersi) w1g 39 steaeo # 376 9 fore o1ef o 9 H < T 8 2
(A) Tt fommm soft &1 § 0§ F Atk FHafEr S
(B) Tl st | ater ot ShafEl o1 AT |

(C) = a1 3uY 31ferek sHufal e Wb H T 21 T o SRt 37er B |

(D) T Y o fw ot o6l A AfHd HE |

www T I8 TSl bl SleH o feTT 3TIeh! fhaent sTagarsha © 2
(A) T TS Sl FHrlod (B) T ol ST
(C) T e HR (D) Wi a4t

ORI | Hiegel WA i Hol Fo9 oK <4 oeft shed=T ot ?
(A) TER (B) st dtwa (C) &l

<IEA 1, 22 TSR, 2008 T R H el § ST 747 o1 2
(A) STl (B) et (C) e
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39. What is blog ?

(A) Online music

(B) Intranet
(C) A personal or corporate website in the form of an online journal
(D) A personal or corporate Google search
40. Which is not online Indian Matrimonial website ?
(A) www.jeevansathi.com (B) www.bharatmatrimony.com
(C©) www.shaadi.com (D) www.u.k.singlemuslim.com

41. Environmental impact assessment is an objective analysis of the probable changes in :
(A) physical characteristics of the environment
(B) biophysical characteristics of the environment
(C) socio-economic characteristics of the environment
(D) all the above

42. Bog is a wetland that receives water from :
(A) nearby water bodies (B) melting
(C) rain fall only (D) sea only

43. Which of the following region is in the very high risk zone of earthquakes ?
(A) Central Indian Highland (B) Coastal region

(C) Himalayan region (D) Indian desert

44. Match List-I with List-II and select the correct answer using the codes given below :

List-1 List-11
(Institutes) (Cities)
(a) Central Arid Zone Institute (i) Kolkata
(b) Space Application Centre (i) New Delhi
(¢) Indian Institute of Public Administration (iii) Ahmedabad
(d) Headquarters of Indian Science Congress (iv) Jodhpur
Codes :
(@ @) (o @@
(A) Gv) (D) @) ()
B) (@v) @) @ ()
(© @) @O @@ @)
D) & @) @v) (i)
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39.

40.

41.

42.

43.

44.

A FANE ?

(A) 3 @A JfSew

(B) g

(C) TTHAA 3R (OR) FHMUNE JodTEe 31 § HH 311 3iere s
(D) TIEAA 3R OR HMNE [T 94

=1 o 9 S o SedEe YA delies derEEe T@'e ?

(A) www.jeevansathi.com (B) www.bharatmatrimony.com
(C) www.shaadi.com (D) www.u.k.singlemuslim.com

TSRO FHTS Yok HeTfed afked=i &1 aegfss faweryo § -
(A) e i ifaes feasremg

(B) TTERUl i Sia ifder faereamg

(C) TaTeRul i FHIfSR Sfifeden famar

(D) IWI qeff

(TASA) Teh T8 YT (FH ¥FT) T S O 9H hean @ Fe 9

(A) GHTE S R (B) wfad &

(C) <hae T (D) hadl HHg

Frefafed o 9 a1 Io3T el i gfte § Tfye Sifad &9 § 31 8 2
(A) T RAE IHAAM (B) WM WeW

(C) o™ &= (D) YRS HEEd

YAI-1 01 F=-11 9 faard gu <3 73 i o1 =T ik Tal S i |

ger-1 ger-11
(TEITT) ( ¥TeT | TIY)
(a) =T TE AU F= (i) ok
(b)  IT<RE STAMT s (i) 5 oot
(c) YRA olieh R O¥IM (iii)  STEHREIR
(d) 9RGE foRe i 5 (iv) SEqR
& &A™
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45.

46.

47.

48.

49.

50.

Indian coastal areas experienced Tsunami disaster in the year :

(A) 2005 (B) 2004 (C) 2006 (D) 2007

The Kothari Commission’s report was entitled on :
(A) Education and National Development

B) Learning to be adventure

Diversification of Education

)
D) Education and socialization in democracy

Which of the following is not a Dualmode University ?
(A) Delhi University (B) Bangalore University
(C) Madras University (D) Indira Gandhi National Open University

Which part of the Constitution of India is known as “Code of Administrators” ?

(A) Partl (B) PartII (C) Part III (D) Part IV

Which article of the constitution provides safeguards to Naga Customary and their
social practices against any act of Parliament ?

(A) Article 371 A (B) Article 371 B (C) Article 371 C (D) Article 263

Which one of the following is not the tool of good governance ?

(A) Right to information (B) Citizens’ Charter
(C) Social Auditing (D) Judicial Activism
-00o0-
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45. A SYE RAE A A g avE T
(A) 2005 (B) 2004 (C) 2006 (D) 2007

46. HISRI TN Yfdeied ol e o
(A) Toren we T o (B) @ffT 2 ot wed=R
(C) SHAfEHRIA 3TH THhIH (D) <ihas | el T8 ARl

47. Ta=ifera ® 9 9 91 fovafaene g ygfd amen 787 ?

~

(A) feoedl fasafermem (B) waR forvafaeme

(C) e favafaere (D) s TTeft Tdia g fovafamme™

48. YA % G99 % TohE WA 1 GUTER] 1 SO Gigdr’ 91 1§ ?
(A) M1 (B) 9N II (C) T III (D) NIV

49. TfAEE H HF A STTE AN TR IR Arifsien gensti s ue & fhe o sifufem @
TEIIT Y LT © 2

(A) ST=T 371 A (B) 3®E371B  (C) =S 371C (D) 3% 263

50. frafafad § § &F o1 GrEE S STR TET | ?

(A) FEFA hI SRR (B) IR YRR 9o
(C) wmHIfSTeR Sfeheror (D) =fae dfshaan
-00o0-
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